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(1) Verify that a and b are orthogonal,

(2) Find a nonzero vector in R* which is orthogonal to both a and

b (91 W5 3mEH )




Bk 0! Feg
Apply the Gram-Schmidt process to a;=| 1 |, a;=| 1 |, a3={ 0 |,
bl Il e
and write the result in the form A = QR, with R upper-triangular

and Q having orthonormal columns (XAREE)
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(D)5t span{x!, x2, x*} Py —4HIER H E—{EE L Y% ¥}
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(1) Gram-Schmidt [F 3218 7
o x' _[1.0 1 0] { )
|x'| J2 /2 J2
yv=x2~ (x2,y)y’
=[2 1 2 1]—-[2 0 2 0]
=0 I O 1ij

ool o

2 J2

y3 - x3 - (X3, yl)yl - (Xl, yz)yz
=0 2 -2 2]+[1 0 1 0]—-(0 2 O 2j

Normalize : y*=

=1 0 -1 0]
. [ =1
Normahzeiy3={_\7—2 0 \/i Ol
@2 y'=D y2 y3 ydBy'Lspan{y' y* y}ulil
yi+ya=0
jva+w—0 20 =y3=0, 2=y,
I ~y=0
F}'EP}IY"l:l%UyA:{O i :‘l}
V2 V2




Given a 3 X 3 matrix

I B i)
A=|0 1 1
184 16
A can also be decomposed as A =QR, where Q is a matrix having

orthonormal columns, R is a upper-triangular matrix, Find Q and
R by G-S process. (X AKEF)
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(1] 3 ][ 1
Ll =L} {—3
W=span J ; 1 :
211 2 | |=2
[ 0 ] 1 0 ] 1 1 33
(1) Find an orthogonal basis of W.

(2) Find a basis of W*. (95 SABMHETEEAPT)
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Consider three vectors in R*: | 11,10 |, 1

(1] (1]10]
(a)Use Gram-Schmidt process to normalize these vectors
0 1 1
(b)Let A=|1 0 1|. Write A=QR, where the columns of Q are those obtained in
L 1 9

(1) and R is an upper triangular matrix. (95 EBMAMMETEEAPT)
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1] 25

CAXTRST
0Ty

- 'w'
'x.sl&

\ \

and a,.

Leta;=[1, 1, 0], a,=[2, 3, 0] and b=[4, 5, 6]”. Find the projec-

tion vector of b onto the plane that is spanned by the vectors a,

(95 HAELIERT) |

(1 2]
% W=span{a;, a,},A=|1 3
0 0]
4]
A (ATA) 'ATh=|5
0

» Hil b 7F W _Ef4 projection vector
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What is the projection of (1, 1, 1) onto the plane spanned by

0 Mand(1 Q-1 (HARE-

b 1 1T 31
A=|0 0 |=A(ATA)'AT|I

|
-




. P #% 1inner product

$inorm = & A length = | |v]]




w € 3 & eop ff inner product

» 7 Hl f\c ]Faﬁ ad ﬁm{
™5 e &0 B ffdot product

=] ::g_;n ! ﬂ;éf_éﬁ,%hﬁ & LY
2.3 R &R e £ 2 F e P ffinner
product




® #% inner product (page. 222)

®(]1). norm = & B length = | |v]]
-Vﬂir\%’ivmrﬁ:({&)=”v”=\/(
/5 RERFEZR

.éiﬁ?r&_&&h =d(u, v)

V, V)

du,v) = u—v[|={u—v,u—v)

(3). =1 & =¥ =% ¥ (unit vector)



R AR &S ez I2 (page. 222)

D ufov SREABEIF VP che g2 k5

(@) |[|[v]| >0 288X+, 2rriEx v =1
=) ||&v|| = & ||v]]

»(c) dlu, v) = dv, u)

(d du, v) 202 5S> FirEE u=ve

(W, V) = wiu1v; + wausvy + - -+ + Wy, vy

\



se g 3 £ P F (page. 223)

(u, v) = wiuivy + woaurvy + - - - + w,u,v,

» (W], w2::) 5 ¥ £ weight
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é’!%kkspxﬁ 1 1

1). ¢

(page. 225)




£ 5)3-1 : 2 ¢ gtk H ] (page. 225)
»(1).u=(x,y), Fluup = {u. u)

) ul| = (u,u)'/? = /x2 + )2

) HAGEI R VA =1

AY

X -|-y3=1

/‘\{ |ul| =1 .
NV

(a) BEFARAE LN ARV BB




= 513-2 1 ¢ ek E ]

»(]). % 4N £ g d
e AR TR

1
(U, v) = guv; + %szz

(page. 225)
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& 7|3-2 ¢ /¢ engF sk H = [F] (page.
»(1).u=(x,y), Fluup = {u. u)

=) (u) = (uu)? = /124 1y

(VA iRpsY 52w,
2

X yz 1

9 4

éﬁ\/l 2-|-4v = ]
N

(b) f5)

|

AR T PR B

225)









gl ¢ R & (
g (1, V3) e
) e fic

£ J12+ LML
(3)*=/1+3= /4
=2




612 ¢ % £ (V2 — V6, V2 +VB) i
B

=/(V2-V/6)*+ (V2 + /6 )*

(prs

(V2 + V6,
VA

2242 67252412 + 6

= J16= 4




=(1). U=(X1i, Xoi I BREE T

»(2). P23

O=uvR fE = X1iX1j+ XoiXoj+ = Xy X
R #% inner product = * §£5 : B-fdot product

A ° (
-{:1%){ xl,-W 'xlj‘







= 1x (V2—v6)+V3x (V2+/6):
=J/2—-J/6+/6+ /18
=/2+3/2 =42













7)1 ¢ RiY A o» £ & & 832 (E (page. 233)

L — ]

Fu=(4,3,1,-2) fvv=(-2,1,2,3)% £ & & gk

0 cos_l( u-v) 1 < i <]
[l {]v] B



51 :R4Y 3 > § & & ek & (page. 233)

Fu=(4, 3,1,-2) 'fr'v-( 2 1,2,3)% & & & fekp

4« B —_— << <
5 ||u||||v|| I =< <1

& |l ||v]]
Sl ' g

lul =30, [vl=+18, K (u,v)=-9

(u, v) 9 B 3

lull vl ~ V30418 215













POl EARARHT M

3 g u=(1,1) fov=(1,-1) (page. 234)
(). u, v £ hAPRFOETRTEIER

=f: u.v=D1)+ D(=1)=0

»(2). ahefE AP P FinETRT A AR
-'_?:’,"-:'i. : (u, V> - 3”101 + 21]22/2 2




(U, V) =1(0) + 0(2) + 1(0) + 1(0) = 0

(page. 234)
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°

=D zZ e : =%
'f*? 3 il i B L'
SRR R R ZER = ZERAES null space=

E- 2 1L

= Matrix([ Pik

[1,3,-2,0,2,0], or

[2,6,-5,-2,4,-3], { g}i), Matrix([

[0,0,5,10,0,15], |t

[2,6,0,8,4,18] [-2],

D o)
_nullsapée = M. nullspace( {2}]) Matrix([
_rowspace = M. rowspace() | R4E

Al, n2, n3 = M. nullspace( { 2:

/2, r3 = M. rowspace() |88

intCnl =, nl) B Y ZE s A ) 2 43 ME4E D= column space=

, i [Matrix([[1, 3, -2, @, 2, @]]), Matrix([[e, @, -1, -2, @, -3]]), Matrix([[@, @, O,
ntCrl =7, rl) 0, 0, -6]])]
. nl = Matrix([[-3], [1], [e], [e], [e], [@]]]
priyt(nl. dot(rl)) rl = Matrix([[1, 3, -2, 0, 2, 0]])

Inl.dut(r‘l):tﬁ?ﬁ HIF ZE RS 7 [H 1E 32




o S H e RN LAPFE T ch 3
=2 45 ) #1 ﬁr’v’ﬂasé ’ M\‘nfr“ﬂ * 7 F

£/ %30 ’ﬁuftév\‘%ﬁ’\ ’ Jvﬁt )
mA R BRERETFOP 2
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TEREH
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(g) I+ 3 Vend 2B v

=) ¥ N = {0} i

SE522 WHHNE—REYERN W dNE—mE » H¥RE -




o6 - AR R A
myr otz EF (508 95 32 F) (page. 237)

wi = (1,3,-2,0,2.0),  wy=(2,6,—5,-2.4, —-3).
wi = (0,0,5,10,0,15), w4 =(2,6,0,8,4,18)

Dk Fep 2R AR
W 1]‘&{’ oWz EFLE (22) iR EEL




fvi}vdﬁ PR R K
my Begd 22 RF (30 932 F) (page. 237)

wi = (1,3,-2,0,2.0),  wy=(2,6,—5,-2.4, —-3).
wi = (0,0,5,10,0,15), w4 =(2,6,0,8,4,18)

mafzFLe (F2) FaREE
DFEiWe s F(Ax=0) > &#5|2 F 2 £2E >

55 A i&{]‘\w,f S T B



e 6l6: L AHF AR

7
o 'l’f«’fF"iﬂ"’»"J_-r. Fipk  (page. 237)
B 3 -2 0 2 0|
2 6 =5 =2 4 =3
0 0 5 10 0 15
2 6 0 8 4 18

LAPRZRARE -

o o= o © O

vi=1(=3,1,0,0,0,0), v, =(-4,0,-2,1,0,0), wv3=(-2,0,0,0,1,0)
\\



8. T&

i+ 2 & & (orthogonal basis)
i+ P& & (orthonormal basis)




&

. FAR
mEd v e R LEIIEAR

(orthogonal basis)

THZFY o d 2 ReEESSRAR ) FEA
i* P& & (orthonormal basis)
gl R=]1 (B EadR)
mrRAR=“EAR=FFLIAR
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3 St PR K= [ ank R ff iRt H R

(L0000, e =(0.10,...0..... e=(000..1




.%’é’ ﬁ"] 3 1t E'J %f& p.239
=] F#ZP V], vZ, v3E I+ P A K

1 1 1 1
V] = (O, I, 0), V) = (—’ 0, —)’ ﬁFD V3 = (_, 0, __)

v RhER=1 (B EAR)
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AT B A K ek i

], FSV, V..,V e PREZEVP B
- Yo

Us VP ehiz g e g 0 B

u=(u,vy)vy + (u, va)vp + - + (u, v, ) v,

EHf=un® BRARVASE (P F)



~ 2 7 B
FUus /P nizg e g 0 B
(“, Vl) (ua VZ) (ll, Vn)
TAERRTATAS TAE
Y /‘l/‘ ﬂ — (u! V]) ’ (u& VZ)
— *} N ( ||V]||2 ”v2||2 oooooooooooo >

=y F BRAVELE (RFE) /ARGTER



Fold: pETERAROREED L
» = {VI’ Vo, Vg}‘% B e B E&/—%

vi=0,1,0, va=(-%03), vs=(3,0 %)
oox S F ¥y =(1, 1,2 s ER >




FoI4 0 A E R R A R e B

=S EALP fRE G A

»(1).*Z1:®*Vg, = Ppy,pg2 Vp1
S8y . 7255 — BV,

Pp1-B2

Egt% . VBI—) VBZ

(4T : Vo, = P V

Py s (BRIERE | RXERE)
(2). %2 #* fF=ud* BRAARVELSE (P FH)

i’l/‘ 7}/@;:<(ua 1Vl) ? (ll, VZ). c o o © o o o (“!vH))




%314 v 1 SR 'JiL}% ik s B

2 it * <k = =u &= lﬁﬂﬁvmk% (P\ﬁ)

(U,V}) I (ll, VZ) _Sl_, ﬂ] (U,V3> — %

{’K}’%]EEE 5.3.2 [t

“=V|—lvz+zv3

JRE[
(1,1,)=0,1,0 = 5(-%,0,3) + (3,0, 3)
KL - w AHESRY S AUREARE Py R

(w)s = ((u, v1), (u, v2), (u,v3)) = (1, —3, 1)



xpkéﬁl]“i"f' = F F’“ (#B *q“"fk E‘JEU% e




PO REIAREERAERA

=S AP PR G A b
»(1).*Z1:®*Vg, = Ppy,pg2 Vp1
STV - R IN—EERRRRV];

Bl—)BZ

Fj1%. VB]_ —_— VBZ

EAR T : Vii = Pii ‘ii ViI

Pp1_p2
(2). 222 #* &fF=un= BRAAVOLE (P )
Ak *E:(Kua vi) o (w,v2) c e e (“:Vn))




o5 e ARREAIAA

/ 2 %% k4= f._p_—lﬁ'- ]}g%vmg.g (P #%) .
(@) ArdGE R n Ry IR A - [KTRy
(wi,wy) =0, (w;,w3)=0, (wy,w3)=0

MR ER 5.3.1 88 ma BagrEEa » BRI TR 4.5.4 A1 386 Enll R A
I o K wy, w,, w, 2 HFW& FRERR » n[fF R ERAYIEHTE R

Wi

0.1,0) w2 ( L o )
vl — e y %9 ’ v2 o ) ,
wil v -\ 7

\\



Poi5 : R 2 AR R RIAR

. léﬂ'ﬁjfﬁx‘ UL—'R' 'E&%VET’A\:E (F‘ﬁ) naq
 (P) R (3) ZUHT Al

u= (u, vy)vy + (u, v2)va + (u, v3)v3

(u,vy) =1(1,2,4)-(0,1,0) =2

)

(1 1 5
\ — 1,2’4 — —_— ) = —
(W, v2) = ( - \ 2’ \/E) V2

(U,V3> — (1?234)' [

5"
|
A —
|
ol

PRI > Tl

5 1 | 3 | 1
1,2,4) =2(0,1,0 , 0, — — | ——.,0, —
(24 =2( )+J§(ﬁ JE)+J§( 7z ﬁ) <







243
-Wl lyli’—”/‘:J » F ‘Nzl"i’.”ﬁ“:1 ©
Uu=w; +w

WL

w; =projyu  fI Wy =projy.u
u .

projy.L u
u = projy, u + projy. u
u = projy u + (u — projy, u) 0 projy,u "

5.3.1

O
ek




PHNE QAR LW

CESEIVL Ve, VAR RV A R AK

A
. (u, vi) (u, v2) (ua, v,)
Olw U = \% + 0+ v,
e T AN T P TAE
-/‘l/‘ *ﬂ\:((u,‘”) ? (u,vzz) e o o o >
= PPNE el -

=y F BRAVELE (RFE) /ARGTER



EAT PR KRG P

], FSV, V..,V e PREZEVP B
- Yo

us VP iz e o B

projy u = (U, vi)vy + (u, v2)vy + - - - 4 (u, v;.) v,

EHf=un® BRARVASE (P F)



= 716 : 3B R 244

1=(0, 1, 0)Fevy = (-4,0,2)




2w B =

»y,=(0,1,0)4rv, = +.03)
»(1). 3+ Eu=(1,1,1) & B 4 Rs={vl, v2} !

projy u = (u, vi)vy + (u, v) v

= (1)(0,1,0) + (—1%) (%, 0,

~ (4.1.-2)

244

WL

3
5) u |
projy. u
)

0 projyu

W
2 & 5.3.1

—projyu= (1,1, 1) — (£.1,-%) = (4.0, &)

257 77 25



11. +# & & {u, uy, . . U}
‘ﬁﬁg\;-ﬂ- QE}%{VI, VZ"'V]‘}
2 E D"
BW- BEFEIALR
Gram—-Schmidt orthogonalization




BR-% B IER
Gram—-Schmidt orthogonalization
s 2L U, Uy, . . U p B = % 2K {v, Vy, ..V, |

A SRS ST e,

— : V -
| EWQH%
hap 2~ ((w)r
H 3 :
A A
: : E ,

(g, vi) (g, v2) (ug, v3)

W2 3
4 ~ V4 = Uy — Vi — V) — V32 [E 5.3.4
¥ 2 TAL TAE TAL




EW- RPEEIEE

Gram—-Schmidt orthogonalization
» o %]%{ul, Uy, . . ur}ﬁg%ﬁ@ LRI - S VR TN Vr}

vV, =1, —projW u,
° IE T e N
2 BT I FEIT O
7 3E b3 L
u, — proj
1 N Vi = Uy Wl_,_ | A W
Yy pI'OjW oS
N 2 — 2 | \&) |
) o L VIP Y s E 533 N
(113, V1> (113, V2) _ Projyy, U
% A 3 > V3 =u3 — V] — \%) SE534
7 Ak TAE
(ug, vq) (ug, v2) (ug, v3)

4‘ V4 =W — Vi — Vo — V3
ﬂ} '?F v |2 2|2 3|2



BW-R R LAER

Page. 246
P . (ug, Vi) (114,‘?’2>V (114,\73>V
» ¥4 — Uy 1 2 3
) o TAE TAE TAE

(#F% r BH2)

-?éﬁa‘%—_ﬂ; :‘LE_!‘.]% {Vl’ Vo, « ¢« ¢ » V. ﬁid
TRICE- AR TS

» v @J}- E'J%’% {(11, an e o o qr}o



FolT: @™ H- RFL LR

'#‘ = B 2§ (page. 246)
_ (]-9 ]-9 1)9 uz_(09 13 1)9 U3=(0, O’ 1)

-gg At RAR (v, v, Vs
YRR ENTRAR {q, T d3)




o7 RR- L IER
1~ (1,1,1>,UZ=(0,1,1>,U3=(0, 0, 1) (page. 246)

i%l“ﬁ:lnz(l,l,l)

(uz, vy) y
1
vyl

RER 2~ vo = uy — projy, wx = upy —

2
= (0,1, 1) — g(l, 1,1) = (——, -, —)




o7 RR- L IER
1~ (1,1,1>,UZ=(0,1,1>,U3=(0, 0, 1) (page. 246)

(s, vi) (U3, v2)
> Vi
V1]

—(001)—1(1 1.1) 1/3(—% Il
IR 3V 2/3 ’ 37 )

B 3~ v3 = u3 — projy, uz = u3







sympy import * $§3ﬂ7 PYthOni55¥€%

M = [Matrix([1,1,1]), Matrix([0,1,1]), Matrix([0,0,1])]
GramSchmidt(M)
M_GS = GramSchmidt(M, True)
al, @2, g3 = GramSchmidt(M, True)
IntC 1. Mt g e R A &A=\n", M_GS)
QAT V-SR] o1 |55 = Matrix([[sqrt(3)/3], [sqrt(3)/3], [sqrt(3)/

prAintC @2 R & & =, q2) 31])

N IR (0771 = Matrix([[-sqrt(6)/3], [sqrt(6)/6], [sqrt(6)/

6]])
QEHIRE = Matrix([[0], [-sart(2)/2], [sart(2)/2]])



12. ¥ R en= fEsErt A 2




¥ Rih= AL o iz

wie* L i3 (decomposition, factorization)
b S EE SRS
>3 ié\ﬁ” . /%:Peé\ﬁ* QR4 % ~ Jordan
A\ﬁ?ﬁ‘PSVD (FRE) »12
m/F Ly = 4
»])= % & j2;% (Triangular Factorization)=LU4 j#
»2)QR 4 j#;# (QR Factorization) -
»3)# B & 4§22 (Singular Value Decomposition)




+ B w4 22 (Singular Value

SVDA fik ch? i Decomposition

=(1). jEd ] T3 FA
=(2). #ip B4 -
miEtlena B ET B
(1). B B 42 -
(2). % e B 3L ~
»(3). &)= % A

»(4). R RFELRF I
»(5). R F LG MG L& ik




13. 3 2L A2 FQRA 3




QRA 3 ¥ &

QR4 f3i2 B = RSB A fRih SN2

»LUA f2 » QRA 72 - SVD—w@.M’i

Bk  PEEALES - BEIFELE- B =
E.-zF"i’.mﬁ(A QR)

» A& R

mORA fRiE ¥ * kfRMPEE ] - FE -
wOR4 35 FiFrz ke iz (QRE:) &
» ¥ H i/%lj_?_‘\ "'J«lf_"f—m%&@.




#= 7)8 ¢ F ELARTQRA

» s 5Bt AR (TQRA /3 (page. 250)

1 0
A=|1 1
1

0
0 |
1




®»(2). 3/ I QR& ﬁ#/é":
mEAEFTHEN-L RFLIELAT
-j]vt? M js SEMEA A {3 2 QR

QR E R REEFL AR

_ - 11 0
0 0 V3 «JE
Cool = (|l | of Lo
- |V3 V6 V2
1 1 1 1 1
- - V3 V6 V2 E
A = O

QRA ik 2 = %

-TT
-3 2
V3 V3

2
0 %
0 0
R

Si= &l Sl
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= s
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= a -
=2l — I —
o o
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g
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=
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| )
|
- 1_ﬁ -[<

| 1S 1S 3
s S eS o

I Sﬁ - i | |
o5 5 AR -S5[S
_ |

'~ = S e =

(page. 250)

i P A

L e
| = AR
e, —— —— s5500 e ©
Iy I A L
N = s & I R
’r~~ __l K O | o l_f l_f
ﬂ* _0 1 nml/ SRS
i ol =~ [EE-E
4 1 = Zool
= e =
— L= 55K
| |
Q : | L __
| |
I oS o —
— -+
u.m_l\ = e~




from sympy import ¥

= Matrix([ P thonﬁi“

1,0,0 FHQR M » SKIIERIIFE =
B Hafrlxc[[eqrtcajfa sqrt(6)/3, 0], [sart(3)/3, sqrt(6)/

1,1,04, -sqrt(2)/2], [sqrt(3)/3, sqrt(6)/6, sqrt(2)/2]])
1.1.17 Matrix([[sqrt(3)/3], [sqrt(3)/3], [sqrt(3)/3]1])
. - ) Matrix([[-sgrt(6)/3], [sqrt(6)/6], [sart(e)/6]])
D Matrix([[@], [-sqrt(2)/2], [sqrt(2)/2]])

Q, R = M. QRdecomposition

print(" * QR4 &2 » £ P X A=\n", Q)
= Q. col(0)

q2 = Q.col(1)

a3 = Q.col(2)

printCql =", ql)

printCq2 =, q2)

rint(Cq3 =", q3)
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») EBE 6-1-2

—F ARG THEE

A% A & IE3ZFEPE,

» 2 E A 4B
= lApEE 2

= Arig B B




P — ey
16
o [E6-1-2
I RAEL i b L e cos® —sinf
a2 va2 - o~ 3 A -
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